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3anuuuTte cneaylouime BbipakeHus:
KBaapaT CYMMbI X U Y;

. CyMMa KBagpaTtoB Mm M n;
KBaapaT pa3HOCTM m U 3;
Pa3HOCTb KBaapaToB a U C;
KBagpaT CyMMbl a, b u ¢;
Ky6 cyMMbl m u 1;

Pa3HOCTb Ky60B X u z.
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/‘numm‘e Ha pocke cphopMynbli:

1) KBagpaTta CYMMbI;
2) KBagpaTta pa3HOCTM.




Omeemb!

/1)a2+2ab+b2=(a+b)2;
/ 2)x%-2xy+y?=(x-y)?>.
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1. 9a%+ +b?=( +b)?
+  +y*’=(2x+ )%
/ 2.+ =( +2m)%

4. -24y+ =(3y- )%

5. a>- +9=( - )2
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Omeemb!

2 x2+4xy+y2—(2x+y)2
3 4n%2+8nm+4m?=(2n+2m)?;
4. 9y?-24y+16=(3y-4)?%;

5. a2%-6a+9=(a-3)-.
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. a%-6ab+9b?;

1
2. x2+xy+y?;
/3. 1-2ab+a?b?; -
. 100x2%+y2+20xy;
81a2-18ab-b?.
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3. (1-ab)? .
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4. (10+y)% £
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/I-Iaﬁpm.re 3HaueHue

/ Bblpa>kxeHua:
25a%+70a+49
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npm a=0,4; -2; -1,6.
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PeweHue: (5a+7)3;

(5%0,4+7)%=92=81;
(5*(-2)+7)%=(-3)%=9;

(5*%(-1,6)+7)%*=(-8+7)%=1.
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